+H SEE O=bhh s AYvh—)—J[ &8 1AER

A B | xt B = H = 15

1000 R&57 1 9 B mEFC # HFC

108178 | 11:30 # HEFC 3 2 GLFUN VLT ZEMILE A
13:00 VI F 1 2 ARFITaFC GLFUN
10:00 GLFUN 0 9 ARFIT4FC R E 937

10H318 | 11:30 # HEFC 5 0 K& I3T RFILT4 FC ZEHMILE A
13:00 | Of=biabhH&HE O 5 3 I &EFC (Z#HS)
10:00 VI F 5 2 # HFC GLFUN

118148 | 11:30| FIWMEFC 5 0 GLFUN Ot=bunhi&EH | 2EMILEE A
13000 ®R#MU3T 4 1 Ufbiabhh&R B I & FC
1000 ~RFJITsFC 3 O B ZEFC v F

11H218 | 11:30| O =blabm&EmHF O 5 v F (Z#EHA Z BRI A
13:00 GLFUN 0 1 K8 9357 | OfblanmEm
10:00 | O =blab & 3 0] GLFUN A 3 & FC

11H288 | 11:30 vy L F 6 2 P mEFC RFILT4 FC ZBMILE A
13:00 # HFC 1 3 ARFIT1FC v F
10:00 # HEFC 4 1 Ufbihh&er | 303 EFC

12858 | 11:30| ~_FIJLF4FC 2 2 k&8 957 GLFUN ZBHILE A
13:00 GLFUN 0 5 VL F R E 957
10:00 v F 4 1 R 957 | Ot=biabmen

12A128 | 11:30| O=badhhH®HE 2 4 ARFILT4FC # HFC Z BRI A
13:00 # HEFC 0 1 B I = FC RFIT4 FC




